Solving Proportions Extra Practice
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Answers

1. E=g—>3><x 4x9 —3x = 36—>%=§—>X:12
4 X 3 3

2. 1=E—>1><6=x><2—>6=2x—>§=§—>3:xorx=3
X 6 2 2

33 X L augoxx224-2x 22 10 xorx=12
2 8 2 2
x 15 10x 60

4, —=— 5> xx10=4%x15—->10x=60 —> — > X=6
4 10 1 10

1 1
5. 10 X L 10x3-15xx—30=15x 2 =X o _yorx=2

15 3 15 15

6. Lo 8o bx1258x=T2X_"2 4 9
6 8 8 s

7. §=§—>20x4 Xxx5—->80=5x—> 80 %—>16=xorx=16
X 4 5 5
8. sz—noxx 25x 4 — 20X =100 — 20x 100—>x:5
25 X 20 20
15 25 15x 75
9. =="515xx=25x3->15x=75>—-—=— > Xx=5
3 X 15 15
10. 2 X 5 8x7-10xx>56=10x > 2 =2 L 55_xorx=56
10 7 10 10

11. i=£—>4><14=x><5—>56=5x—>§=%—>11.2=xorx:11.2
X 14 5 5

12. %:E—WZXX 0.9x3.6 > 0.2x=3.24 — 02X 324 —x=16.2
09 x 02 0.2
13. ﬂ:% —1.4x75=x%x0.25—>105=0.25x —» 105 _ 0.25x —>42=xo0rx=42

X 7.5 025 0.25
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i—)XxZ—lxl——>2X=—>2X=§—>§:2
2 3 9 2 2
12
=——>2—x :1Ex6—>gx:§x§—>iX=10—>X=Ex—
X 3 3 1 12
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